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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Sem-I Remedial examination March 2009
Subject code: 310008

Subject Name: Business Mathematics
Date:  31/03 /2009 Time: 14:00pm.To-16:30pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

Q.1 (A) Tathagat deposits Rs. 5.000 at the end of every year at 15%

(7)

rate of compound interest with a bank. Find out what amount he would receive

at the end of 10 years.

(B) Thirtankar discount with a bank a bill of Rs. 15,000 for 3 months
at 16%. Find out Banker's Discount, True Discount and Banker’s Gain.

Q2 (A Iffx)= x-25
X+5 .
Find the value of f(0) and f(1).

(B) Find the limit of lim X+ 3x° - 8x
X — 0 5x° —dx

(C)Ify = 7x’ +5x* —20x +37. find dy/dx
Q3(A) 5.9, 13, ... Obtain 15" term.
(B)3. 8 13, 18, .......... Find the sum of first 50 terms.

(C) Insert four arithmetic means between 3 and 33.

Q.4 (A) Find the values of :
(1) ops (2) s0p2 (3) sp3

(B) Using all the letters of the word RANDOM,
(1) How many words can be formed ?
(2) How many new words canbe formed ?
(3) Out of all the words formed. how many will begin with R ?
(4) Out of all the words formed. how many will begin with R and M ?

(C) Find the values of :
(1)4Cy (2) 10C10 (3) 100Cos

(D) An urn contains 6 white and 4 red balls.
(1) In how many ways can 3 balls be selected ?
(2) In how many ways can 2 white and 1 red ball be selected ?
(3) In how many ways can 2 red and 1 white ball be selected ?
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Q.5 (A) Draw the graph of x +y <4.
(B) Draw the graph of x =5

OR

Q.5 (A) Write the uses of Linear Programming.

(B) Discuss the Types of Functions.

(C) Write the Rules of limit.
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U1 (A) dauotd €2 cdoll 2 3. 5,000 As AsHl HE B. el €2
15% . 10 i v 3ecll U HAOQ ?

B) dlsfs2 3. 15,000 ol 3 Haell Yectoll gS1 Alsul culls 16%
ol £ c2lA B, As20ll celal, WRUWR dald el dsRell Al ENLN

Y. 2 (A) % f(x)= x" =25
X+5 . A foyma f(1) o B e,

(B) d&t . lim x>+ 3x°— 8x
X—0 5x° — 4x

(€)% y=7x +5x" =20x + 37, dl dy allell
Dx
Y.3(A) 5.9 13, 15 34 ue Aol
(B)3. 8. 13,18, .......... Y 50 UElell URallol s,

(C)3 AR 33 o A ARl AHIAR Heasl ysl
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Q.4 (A) (BHd 20wl :
(1) 9p3 (2) sop2 (3) sp3

(B) RANDOM 2l6€all (el H&Rlell GUalol 3ot
1. dectl 2ol sletlcll astaL?
2. ¥ecll olall 2A0EL olottcll austL?
3. 32cl 2AGEHL R YaH el wud ?

4 Yol AGELHL R YuH e vl M Beetl UL il ?

(C) (Bt 20 :
(1) 4G (2) 10Cro (3) 100Cos

D) As acllHl 6 uFe wA 4 et ol B, aniel,

(1) 3 et 3ecll Al ue 53 asi?
(2)2 U¥E wA 1 Al A Becll Ad uaie 531 alstA 2
(3) 1 u¥E Al 2 Al et secll dla urle 53| alsta 2

Q.5(A) x +y<4 oll AU ERL
(B) x<5 oll WAW €L
Al
Q.5 (A) YU WAoot GUAN Al
B) @Bt ysiAell w2l 53l

(C) Aetotl Al Al
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